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Addition word problems :

1. There are 120 candies in one jar and 145
candies in another jar. How many candies are
there in all?

2. Atthe park, there were 20 girls and 14 boys.
How many children were there in total?

3. Oliver had a collection of 100 stickers and his

friend Henry had a collection of 150 stickers.
How many stickers were there in all?

4. James has 68 pencils and Leo has 33 pencils.
How many pencils do they have together?

5. A gardener planted 145 coconut saplings and
175 apple saplings. How many saplings did he
plant in all?

6. Isla’s hairis 16 inches long. If her hair grows
5 more inches each month, how long will it be
intwo more months?

7. There are 145 frogs in one pond and 45 frogs
in another pond. How many frogs in all?
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